12@0802 (K12a0802)

Linearized knot diagam
A2 :

(2 3 8 12 1 1 10 9 2 7 6 5
3

K .
\1 \\)/5 Solving Sequence

A knot diagrarrﬂ Clg2 €3 €1 Ci1 €5 Cig Cg C9 Cg
Ideals for irreducible component#ﬂ)f Xpar

I =W +u® 4+ du—1)

* 1 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

1,534%12%3%2%11%6%10%7%9%8»02,07


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI*=(w?4+u?2+..-+4u—1)

(i) Arc colorings

o= (1)

a5 =

wl —3ut +2u?+1
ub — 2ut + u?

—ud 4+ 4u” — 5ud + 3u

—u® 4+3u" —3ud +u

wl? — 540 + 948 — 4ub — 6ut + 5u? + 1
wl? — 4410 + 6u® — 2u8 — 3ut + 2u?

—ul® 4+ 6ul® — 14u!! + 124 + 607 — 16u® + 4u® + 4u
—ul® 4+ 5ul — 106!t + 70 + 4u” — 8u® + 2ud + u

(u18 — 7ul® + 206 — 2502 4+ w19 + 31u® — 24u’ — 6ut + 9u2 + 1)

ag =

ag = ul® — 60l + 150!t — 16u!? — w9 + 18u® — 121’ — 2u* + 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u?! 4+ 32019 — 4418 — 108u!7 + 28u® + 172u!® — 80u' — 56w 4+ 96u!'? — 232u !l +
16u0 + 312u° — 160u® — 8u” + 108u’ — 208u® + 60u? + 60u> — 64u? + 56u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Ce
23 22
7, ¢, C10 u“ + Ju™ + du—1
C11
Ca,Cs B w4420+ 1
23 22
C3,C4,C12 u” —u -+ 4u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Ce
¢7, Co, C10 y? 43522 - 412y — 1
11
C2,C8 yB 43y 4+ —dy -1
€3, C4, C12 Y 1Ty e 4y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = 0.005035 4 0.9614131

—16.4609 — 3.50871

0.05644 + 2.172401

u = 0.005035 — 0.9614131

—16.4609 + 3.50871

0.05644 — 2.172401

u= 1.09712

—2.03689

—3.73850

1.124750 + 0.2487001

—0.036937 — 1.0402401

—3.53344 + 0.532331

= 1.124750 — 0.2487001

—0.036937 4 1.0402401

—3.53344 — 0.532331

0.023924 + 0.8392601

10.61860 — 3.023521

0.20094 + 2.846961

= 0.023924 — 0.8392601

10.61860 4+ 3.023521

0.20094 — 2.846961

—1.226160 4 0.0781781

—4.38972 4 1.901921

—14.5499 — 5.25421

—1.226160 — 0.0781781

—4.38972 — 1.901921

—14.5499 + 5.25421

—1.229170 + 0.2444671

—0.94527 + 5.210931

—7.03360 — 8.086541

—1.229170 — 0.2444671

—0.94527 — 5.210931

—7.03360 + 8.086541

1.232150 4 0.4057211

6.90735 — 1.436011

—3.19412 + 0.649091

1.232150 — 0.4057211

6.90735 + 1.436011

—3.19412 — 0.649091

= —1.266670 + 0.3900631

6.62684 4 7.421511

—3.89329 — 6.100291

—1.266670 — 0.3900631

6.62684 — 7.421511

—3.89329 + 6.100291

0.076206 + 0.6103581

2.98734 — 2.144461

0.00654 + 4.858021

0.076206 — 0.6103581

2.98734 + 2.144461

0.00654 — 4.858021

= 1.300390 + 0.4780711

18.9960 — 1.61541

—3.04292 + 0.649801

= 1.300390 — 0.4780711

18.9960 + 1.61541

—3.04292 — 0.649801

—1.307350 + 0.4737031

18.9379 + 8.61911

—3.15110 — 4.962501

= —1.307350 — 0.4737031

18.9379 — 8.61911

—3.15110 + 4.962501

0.218328 + 0.2438191

—0.276943 — 0.7942691

—6.99628 + 8.473191

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= 0.218328 — 0.2438191

—0.276943 4 0.7942691

—6.99628 — 8.473191




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs5,Ce
23 22
€7, €9, C10 Ut Ut 4 —du—1
‘1
C2,Cs uP —u?? 4+ P+ 1
C3,Cq,C12 u23—u22—0—---—|—4u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs,Ce
C7,C9, C10 y23+35y22+...+12y_1
C11
Ca,Cg y23+3y22+"’*4y—1
cseascrr |y - 1T 4 —dy — 1




